395H MEER

HTE545

WwE JRAL

KimFH=682. 21

DL=680. 0

BE%nvh U D4-30
9. *\Am

t=0.05

DL=680. 0 ~ DL=680.0

p 136.0 |

IERA |

12.0

OSFIZ{AIiE 300300 kA

p 150.0

SIS B A (8. 0:2.5/1/22. 56 SEUEE $=1/100
—
. = 4984F BERTEIR
BT&E 34954 =
Lg_oFﬁ rikEn] W=15cm =97
| EmcomE -
BRTSITHE B LR < . s = [
Wi BEEk R 17=681. 17 - Ki2FH=681. 21 KixFH=681. 42 g = ’QEE%H:,#—;;'\
S /7 o/ AEREkA
4.2
\ y_ L 30 | ar L __7_Gr7__7’_7__7\77_ B Gr:*_
S P i W i — =
B%£%0S300%300
o | DL=680.0 o B 1 B B B ~ DL=680.0 B B B B B B ]  DL=680.0 |
" ! {un" -}Co | {un" -4Co 0‘ -
{1 -Co I ‘% = t=0.06 = 0.0 s t{:jé\ O_SFCO
2005 g 2 Z = '
! 2.0 1.5 4.0 26.0
NG fAZY  OSmIZ{AIE300+300 #EHTA OSTETZRIE 300+300 #itkr
300%300 #itkr A
> - - o EHFH-681. 04 =
ces K #5FH=681. 53 E KimFH=681. 64 § KimFH=681. 71 KBID=681. 925 HRELA o
o BARELR o o TKMH
G _
| o Gr Gr—::--...éi—;:’—E.- E——.r- e ——
. S — S — S — — — — \ \ _ I R—
N e \4‘//0\66gC0
JIN —PLO =
L6800 | B B N N B = X DL=680. 0 } = B B B B B B B LS
< {u1” -4Co 2 < <
g £20.05 o S S
36.0
OSTEIZ % 300%300 #ikT A
%ﬁ%ﬂ]ﬂ’ﬁ t=bcm 349%%7?
Ez]gg_g r%~p150. 0:0.3 SHEEUIMT  t=4om L=2.5m
[=0.3+83.0+0.3 = 83.6 m .
BEEy 4530300 L=34.Tm s 1S EhREE  t=4om
_,_._ - Al =ocm =\o. . . 0=0.
#5EEU300FA R EL=5005 & 704K 0.3%83.0 = 24. gcmz A=(3.0:2.5)/1/2+2.56. 62
BT E341 54 SEEEE  t=dem
= s s SHEEIE  t=5on A=(3.0+2.5) /1/242. 526, 9m2
5 e ot g ' 0.40483.0 = 33.2 m2

2 F

dp

il

B HERAERE 13

BH

s[' ama

lwr| m=

BT E54 51}

H AT

mE JRAL

" n

X

&Et

e

H

i

S [ |

BT %




ETE54S B R 1EETE S=1/100 EE54S B R
p150. 0
GH=682. 24
p100.0 \
GH=681. 57 B 107
v p150.0+0. 3 .0 Iy
frRET A S gt 48
K= 0.2 > 0.40 = 0.3 MBI\ — -
BE= 0.1 N B = R e ]
. E= 0.1 e ‘
S AdE |
— ‘ BEET S s
DL=680.0 DL=680. 0 DL=680. 0 &= 03 DL=680.0
ERTT —
BE= 0.4
136.0
p90.0 ) _p136.0__
B fegET Ty
1’%;1 . B FEfE= 0.3 ‘
AE= V. . - — ‘
BEtYs-34v #BR= 0.2
L NogE
gt T Sl ‘ BRI
DL=680. 0 Bi= 0.2 DL=680. 0
DL=680.0  EE= 0.4 DL=680. 0 — =
p120.0
BT pl1.543. 1Y GH=681. 75
p71. 5+3. 1 Bi=102 o
Bfz= 0.5 1.10
LT ! BLER fegtT Ty .
Rif= 0.4 0.3 EBLIT 34958 _pl.5 RiE= 0.3 A
#BE= 02 0.2 p71. 5~pT1.5+3.1 GH=681. 29 BR= 0.2
| Hll= 0.2 10 LT ‘
" |
s EBET
b11. 5 I DL=680. 0 Bit= 01 DL=680. 0
fERLT 34954
RifE= 0.3 0.4 Em—S
BR= O-f 0.2 DL=680.0 : DL=680. 0 e
SELELTIE B pllz.
2.5 WEOM R TE | GH=681.66
p71.5-4. 24 Y o
frgtT HEB®ET p7l.5-4. 2~p71.5 fFRLT g ‘ ‘
= 0.3 Bt= 02 BRiE= 0.3 \ \
BR= 0.2 BiER= 0.5 BR= 0.2 -
p55. 0 __#__#Jlif .
GH=681. 14 =
EERET :
DL=680. 0 Bt= 0.1 SN - WA DL=680. 0

FELT
K= 0.2
#R= 0.1

DL=680. 0

DL=680. 0

#Er= 0.6

FE WERAERE I3

am 2
#R| m=

BNES4SHR HEET 05 Rt

e ]

s
axna

) B (A) (ZCADY7 hOSRIEHEEE = & B
H m B & 15

I BREOFHEEA 7€y FFICIHRRY ZET,




BTE542 B Rt ¥aiER 1 S=1/25 Bri&b48 & Rt

. ” BET
OSRIZIE HEbnF RE M
W300 x H300
BT ED4 548 SHERER o .
T—TM 420 T 400 %E BAEBHETAL0F bon RGITRIE
/ LB HEHRRE 125 10on B GE) 2500ke/nd  pT1. 5-4.2~p150. 0:0.3 P2 78 (3 F8) U300 L=600 T
s | 1 TR B)5n-5R040~0 2be e L= 83.0 m -l REE 2500ke/nd
© S 300
A E1410
D ¥ 8 ] - 400 WE S6ke/0. ()  A-h-EH
Q| {1 -+Go r—j
o L L 50 ~ 56/2500 = 0. 022m3/4&
R0 ] 3| g IF Tf 0. 58+0. 52-0. 31%0. 30-0. 41%0. 10 = 0. 168 m3/Im g [ ]S TAR*0. 022m3/4K = 0. 15 m3
— 490 x 300~ 290
o 120 320 150| o _
gL 500 gL 8 e S| 0.168+83.0 = 13.94 m3
BEL BEL -
i
Mo A% FRHE3RCOLT R 400~4204200100 407
10mz Y & F 1580 S )-h (GEE) 2500ke/m3
5 HIEROSHA S5 N30041300 L2000 SREMII2e/% = 5 & 0.41%0. 2040 10%40 = 0. 33n3

EmE1v9)-+ 18-8-25BB 0. 05%0. 49%10. 0= 0. 25m3

EEEav)-1E4 0. 05%2+10. 0= 1. 00m2

HEERA RC40-0 t=10cm 0.59%0. 10+10. 0= 0. 59m3

YUty E OW0RRSE =005 SEEE dke/i =1 BBt A 1390033 = 14.3 13
- & WI00AREEm L=500 SEZE=32kg/# =8#X
EEEEFE  0.59%10.0= 5. 9m2

1un" =pavhy-+ 18-8-25BB —A%ER 0. 05+0. 30x10.0 = 0.15 m3

Wh)-pZmBE 0.15 = 0.2 m3

% HBASEIERE R%& W300«H300 L=1500 ZEE &34Tke/K

OSAIZiE RiTA RFM
300 x H300

420

85

300

440

305

18-8-25BB
\ RC40-0 |

490
590

_100100

10m Y HE i 2m/E

%Iﬁl *ﬁﬁﬁﬁﬁ%ﬁ“% ﬁ%ﬁ: W300*H300 L=2000 %%E§338kg/$ = 5 $ %*D 2 EE ETEZE@'J%E&H@ I$
EHEIV)-1 18-8-25BB  t=10cm 0. 10%0. 49%10. 0= 0. 49m3 g%‘% AR 1 " RH H5

S Blj— NI 4 -
EREIVh)-1 B4 0. 10%2%10. 0= 2. 00m2 ATESASE A WE R

EFEEEE RC40-0 t=10cm 0. 59%0. 10%10. 0= 0. 59m3
-0 & K WMEFET-25 WI00Esis L=995 =5 #K

s
axXa

HEBE  0.59%10.0= 5.9m2 ‘ ‘HEE‘ %J‘

49N -bavhy-b 18-8-25BB —ARER 0. 05%0. 30%10.0 = 0.15 m3 H & B &% 15

) EE (A) [XCADY7 M DRIBHREIC K B




